NBFE_KRJIPVENEZTEENHEHSHE KIERITER
®E BIEAHY | 19 | REE | AR | BIR | AIBIRZE | B2HETY | BHATYH | SESMETFHEZE
TR HERE-EY 7,408 | 59.84| 1298 | 68 | 52 16 74.93 44.60 3033
TR HERB-EY 7410 4337 1822 | 54 | 30 24 69.32 25.13 44.19
TROEERB((—)-EEE | 4171 4527 1381 | 54 | 34 20 63.59 29.53 34.06
TROEERB(D)EEE | 4165 |61.03| 1076 | 68 | 54 14 73.43 48.08 2535

AR AN B 75BN UB 2 EEMAE
B AR FE2S B UB 2 EEME

RIBIR 2 Z=RI1R - B1R

SEAHEZE=80HT - BoHEFS




NBRFE_KRhEmNEGREHE

F =] EEZPNE Ma Mb Mc Md Me D1 D2 D3 D4
R HERB-EY 7408 |77.84 |6698 |[59.81 |53.08 |4150 |[10.86 |7.17 6.73 |11.58
i HERB.EEY 7410 |73.12 [5020 [39.11 |31.19 [2324 [2292 |11.09 |7.92 |7.95
TR-EERE(—)- RS 4171 |66.65 |51.72 |43.17 3659 2827 [14.93 855 6.58 |[8.32
TR-EERNE (D) RS 4165 |75.77 |67.10 |6134 |[5524 4570 |8.67 5.76 6.1 |9.54
Ma=R1 20%(&) BERFHE D8 D1=Ma-Mb
Mb=A 20%(A &) ~ 40%(&) BERFIHHE  D2=Mb-Mc
Mc=FA1 40%(F &) ~ 60%(R) BENFHHE  D3=Mc-Md
D4=Md-Me

Md=A1 60%(F2) ~ 80%(=) EENFHHE
Me=F1 80%(F =) ~ 100%(=) BENFITSE




